AN(ZFD2) URZ>F - TR BESRAEFLMNT, 49~65 DZR
ZRIZDOVTA~DID ) b2 bR MY AL 2 —DRY, ABREROZO?2
(URZ2I)ICRA LR S, WEIXA), B0 2 EEIZFHrhTnT, &5fT
17HTFe WEROMBS —BE LM S EFTEERA. MEEHERLE
b, RELIRERRALLR SV, —MOBEREIZ0 10T, MERFC
ZERNE E PWELIE S,

(A) Dialogs 1 ~10(49~58) TiL, KFHRT7T T 7 Y A0H LICHMPHME LT D
T, THICHT 2D EREZ 2R SV,

Example Dialog
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

49. (A) The Indonesian restaurant. (B) The Mexican restaurant.

(C) The Turkish restaurant. (D) The Italian restaurant.
Dialog 2
50. (A) Monday. (B) Wednesday.
(C) Thursday. (D) Friday.
Dialog 3
51. (A) The guitar. (B) The piano.
(C) The recorder. (D) The drums.
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Dialog 4

52. (A) Coffee. (B) Iced tea. (C) Milk. (D) Cream.
Dialog 5

53. {A) From 12 to 1 pm. (B) From 3 to 4 pm.

(C) From 4 to 6 pm. (D) From 8 to 10 pm.

Dialog 6

54, (A) $4.75. (B) $7.50. (C) $14.25. (D) $32.75.
Dialog 7

55. (A) Blue. (B) Green. (C) Red. (D) Black.
Dialog 8

56. (A) At 5:30. (B) At 6:00. (C) At 6:30. (D) At 7:00.

Dialog 9
57. (A) One. (B) Two. (C) Three. (D) Four.
Dialog 10
58. (A) The north gate. (B) The east gate.
(C) The south gate. (D) The west gate.
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(B) Passages 1 ~ 3 (59~65) Tix, HFEAMWT, EIRI S /BRI T 5 &
LW %z 2O B vy, 7235, Passage 1 & Passage 2 (213 F -2 M
3D, Passage 3IZIZEMP=Z20H 0 F3, HEIZH ) THEA,

Passage 1
59. Which place was the coldest today?
(A) Nagoya. (B) Kyoto. (C) Tokyo. (D) Osaka.
60. Which place will have lower than average temperatures for the week?
(A) Nagoya. (B) Kyoto. (C) Tokyo. (D) Osaka.
Passage 2

61. Where is the woman calling from?
(A) Barcelona. (B) London. (C) New York. (D) Paris.
62. Why does the woman believe that buttons were placed on the left

side of women's blouses?

(

(B) To make it is easier for servants to dress rich women.

=

) To make it easy for women to feed their babies.

(C) To make women's blouses and men's shirts look different.

(D) To make it difficult for women to buy men'’s shirts.

Passage 3
63. What had to be specially ordered by the bicycle shop?
(A) A chain. (B) A set of gears.
(C) A seat. (D) A set of tires.

64. How much will the woman pay for the bicycle repairs?

(A)  $100. (B) $165. (C) $210. (D) $220.
65. On what day will the woman pick up her bicycle?
(A)  Monday. (B) Wednesday. (C) Friday. (D) Sunday.

=T £ B)
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